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Q-1

d)

f)

9)

Attempt the following questions:

Resistance depends on the temperature of the conductor.
a) True

b) False

Unit of inductance is

a) Weber

b) Henry

¢) Farad

d) Tesla

The maximum power is delivered from a source to its load when the
load resistance is the source resistance.

a) greater than

b) less than

c) equal to

d) less than or equal to

Source is a basic network element which supplies power to the
networks.

a) True

b) False

Find the odd one out.

a) Resistor

b) Voltage-dependent resistor(VDR)

¢) Temperature-dependent resistor(Thermistor)

d) Light-dependent resistor(LDR)

A semiconductor diode is an element.
a) Active

b) Passive

The Superposition Theorem is not applicable for

a) Power calculation
b) Voltage calculation

(14)
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h)

j)

K)

c¢) Current Calculation

d) Both Voltage and Current calculatio

Which of the following is true about an ideal voltage source?
a) zero resistance

b) small emf

c) large emf

d) infinite resistance

In case of ideal current sources, they have

a) zero internal resistance

b) low value of voltage

c) large value of currrent

d) infinite internal resistance

Resistance of a wire is yQ. The wire is stretched to triple its length, then
the resistance becomes

a)y/l3

b) 3y

c) 6y

d) y/6

Consider a circuit with two unequal resistances in parallel, then
a) large current flows in large resistor

b) current is same in both

c) potential difference across each is same

d) smaller resistance has smaller conductance

Kirchhoff’s Current law is based on law of conservation of
a) energy

b) momentum

C) mass

d) charge

m) Kirchhoff’s current law is applied at

a) loops

b) nodes

¢) both loop and node

d) none of the mentioned

Determine the current if a 20 coulomb charge passes a point in 0.25
seconds

a)10 A

b) 20 A

C)2A

d) 80 A

Attempt any four questions from Q-2 to Q-8

Q-2

(@)
(b)

Attempt the following questions:

Give the conversion of practical voltage source to current source and
vice versa.

Convert the following star network into delta network for the value of R;=6Q
R,, =6Q R3=4.5Q

(14)
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Q-3
(a)
(b)
Q-4
Q-5
(a)
(b)
Q-6
@)
(b)
Q-7
(@)

Attempt the following questions:

State and explain Kirchhoff’s voltage low with example.

Give equivalent capacitance for series and parallel connection of two
capacitors. State Kirchhoff’s current low.

Attempt the following questions:

State and explain Therenin’s theorem

State superposition theory. Find the current through 4€Q resistor using
Superposition theorem.

Ri R2
K -

[

— R3 T
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—|— 200

Attempt the following questions:

Describe maximum power transfer theorem and give its application.
Explain Characteristic Impedance of standard T and = networks (Zot
and Zo,) and relation between them.

Attempt the following questions:

What do you mean by Quality factor of coil? Explain parallel and series
resonance circuit.

Explain double tuned air core transformer used in tuned circuit

Attempt the following questions:
Define branch and loop related to network topology. Find current
through R; resistor.

(14)

(14)

(14)

(14)

(14)
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Q-8

UA-1

.Explain T attenuator with circuit diagram.

Attempt the following questions:
State low pass, high pass band pass and stop filter.
Describe two port cascaded network with example.

ol AU YA oll wellol Ul

LAY AlES oll cdluMlot GUR AR AW
a)ULY

b) Wlg

ALCRAY oll AsH A4l B

a) &M

b)<fl

c) $A3

d)eucl

Bl Ul oR AUARAY BUR cAURML AR WdR R clldALA AR ClR
R A AR ofl duuHell 1l 8l

a)duUlR

b) Leal

c) AWl

d) cLellR vl Al

Bl Aeas ol Al oL B ¥ B Aead o War YA ud 8.
a)ULY

b) ullg

(14)
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oL

o(lAattil &l AL ARl e dlat A W

a) AR

b) e AULR . ALY (VDR)

c) 2UHiol AR 2R (Thermistor)

d) Usl@d 2R WA (LDR)

AMSsseR stAlls A As aAea ol @lol 8,
a) UG

b) Q2L

YUt QAR lotl 12 Ao usdl oiell
a) uteR ofl awatdsl

b) dlcee ofl ateld?l (Voltage calculation)

c) dlasyas ol sl (Current Calculation)

d) AR Al cllo yells oial ol 213l

UEN AR B HIZ o{lAoll U] 5 U] B?
a) A AUldJAY

b) 9L emf

¢) dulRemf

d) Welct LAY

wed dlryae W2 53 U3 B2

)% WER all AU (zero internal resistance)
b) B9l ($rct oll AAees

c) AW (Brd ol flesyelts

d)elct BER oll LAY

Us claAR ol WA yOB. %l cl2AR ol doll culleS scll 2.l N WA ML

A dl doll AU Fecll awA?
a)y/l3
b) 3y

c) 6y
d) y/6

Al WAHLel AR U2 HE AHIAR HSAAL sl Al

AR (Qayals Mal AAY 18l uAR U

b) olol vitctALA 1l Rvll (QAorycle uR U

c) AR dslald €35 Hi ARV &3

d) olletl WA ofl clldcl 208 2

(3% ol cllos yetle oll Aan o{lAott Hiell Slott 3Ulcd? HUWBRA D ?
a)Aots]

b) Al

c) el
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d) 1%

(35U oll cllos Yelts oll L Hi @ld] Ud B

a) (U (loops)

b)ells U (nodes)

€) GU Aol olls ool M

d) GuR Hiell A¥A o8l

As (olg Ui &l 20 Eiot UGS 0.25 ASoS HIZ UAIR AA dl [Ayale 32

8a?

a)10 A
b) 20 A
C)2A
d) 80 A

yat 2 ol ust ¢ Hiel 51 uel AR Ul oll wcllol dAull

Ud R
(4)
(¢)
U4 3
(4)
(W)
us ¥
()
(W)

o{lAatl oll Ysllollosellol dAul
Uled Al WA of 522 L Ul A Agf QA JuidR0L A,

R,=60R, =6Q R,=4.50Q oll (53t HR ollAoll R A2as A dcal Aedd Hi
olecl.

ol Aot oll Ysllollscliol dull

(Buls e oll [Aan of [Qulol VW A GEISWL WA A=A

A 3URRR ol Ao W AR Aistal ol uReHl 3R . (A5 ol
@Qrycts [Ran of [@Quist s,

ol Aol ol Ysllollcllol AWl
At oll [Aam of [@Qutet 51A WA UHALAL

YURUUet ol Ram of [Qutet SRl ol Aol UBe 1l 4 1 ol UAR Udl
lasycigell QLA YURWWUot otl AauM ol GUloL 531 1R,
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UlSe unendl.,

YatASeHiAURL ALS LAY ot SMR B2 LoA SR UL

o(lAetl ol Ysllollogellol AUl
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R, vleRlel Hi ol vk Al dlwycis 0.

AlSestaoHAUA TERR M2 UM AL

o{lAell oll Yl wellol AUl
A W, 8l8 WAL, QoS UYL A R QoS (§c2R ol
A W sUsds Aeas GelsW WA dRulAl.
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